Contour plots for Myryt — D;

109Csc-p = =2.31330%

Mwmyt = DyxcL - MCT regime

'_\_L\—|
J—‘_‘—I

_f =171

Il

S8

T/R = 1.85:3:13

Nipeq = 211738

7@ ik

N

R S S . ) SN T SRR S S S, S S A
NS POV R S A S L A
PV A A AN RN RN N

Ni,eq

ey

6i

&

10gCsc -1 r TR NH,eq 6;

Figure 1: Contours for Myytr — Duxcr, analysis in the MCT regime, with Ny 105 = 100 as input. The plots returned
NH 10s = 91.8 and X2 /dof = 1.07, however mild residuals remain in the CRH region.
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Figure 2: Contours for MyyT — DyxcrL analysis in the HCT regime in the coupled configuration, for the case where the
data was simulated under UXCLUMPY with Cfac = 0.4 and Ny 105 = 500 as input. T/R = 0.5 is consistent with the
lower limit of the prior. The comparitively low value of Ny j0s = 200 and very low value of T'/R suggests that, T/ R not
Ny 10s is instrumental in reducing the the zeroth order continuum. Emision lines were ignored and we get x2/dof = 1.35
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Figure 3: Contours for Myyt — Dyxcr analysis in the HCT regime in the uncoupled configuration, for the case where
the data was simulated under UXCLUMPY with Cfac = 0.4 and Ny 105 = 500 as input. T'/R = 0.5 is consistent with the
lower limit of the prior. The comparritively low value of Ny 105 = 200 and very low value of T'/R suggests that, T'/R not
Ny 10s is instrumental in reducing the the zeroth order continuum. Emision lines were ignored and we get x?/dof = 1.18
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Figure 4: Contours for MyyT — Duyxcr analysis in the HCT regime in the coupled configuration, for the case where the
data was simulated under UXCLUMPY with Cae = 0.0 and Ny jos = 500 as input. T/R = 0.5 and Ny 105 =~ 200 the
reasons are same as that explained in ﬁgure Emission lines were ignored and we get x?/dof = 1.98.
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Figure 5: Contours for Myryr — Dyxcr analysis in the HCT regime in the uncoupled configuration, for the case where
the data was simulated under UXCLUMPY with Ciae = 0.0 and Ny jos = 500 as input. T/R = 4.8 suggests that the
zeroth-order continuum adjusts itself to replicate the CRH. Emision lines were ignored and we get x?/dof = 1.11.

log Cocpl = —2.84+3:83

Myt = Drxt - MCT regime

r=1.913%

Nh,eq = 1662333
6 = 67.18*387

=8

T/R = 0.99+3:83

N, eq

6
>

TR
% %% Y ‘o %

) S D 5 P P S D O S & e P e s S e
A7 A% A% ¥ a0 KA R LK RN N N RN I E VRN RN A I
log Cecpi r TR NH, eq 6

Figure 6: Contours for Myyr — Drxr analysis in the MCT regime, with Ny 105 2~ 100 as input. Both the T'/R and Ny 105
are consistent and x?/dof = 1.15. The difference in the scattered continuum is the reason for the observed differences in
NH,eq and 6;.
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Figure 7: Contours for Myytr — Dgrxt analysis in the HCT regime, with Ny 1o = 500 as input.The difference in the
scattered continuum is the reason for the observed differences in Ny q and 6;. The X2 /dof = 1.17, when fit with the
softband emission lines are not included.



